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Dividing Whole Numbers Name:
Solve each problem. Answers
1) 2) 3)
31406 3698 7746 1
2
3
4,
5.
4) 5) 6)
7540 8/699 4|862 o
7.
8.
0.
10.
7) 8) 9)
8527 7[505 5298 -
12.
10) 11) 12)
41382 7605 8258
92(83[75]67]58]|50[42[33]25]17]
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Dividing Whole Numbers Name: Answer Key
Solve each problem. Answers
1) 13511 2 2322 3 10614
3 ’476 3 @ 7 ’m . 135r1
%o %9 %4 2 23212
9 9 0 . 10614
16 08 46
15 6 42 4. (711
1 2 4 5. 87 r3
4) 77r1 5) 8713 6 2152
7 ’570 3 @ 4 @ 6. 215r2
0 0 8 . 6517
54 69 06
49 64 4 8 2rl
50 59 22
49 56 20 o. _ 99r3
1 3 2 0 95r2
7) 65r7 8) 72r1 9) 59r3 3613
3 ’a 7 m 5 W 11.
0 0 0 »  32r2
52 50 29
48 49 25
47 15 48
40 14 45
7 1 3
10) 9512 11) 8613 12) 3212
4[382 7/605 8258
0 0 0
38 60 25
36 56 24
22 45 18
20 42 16
2 3 2
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